ECAD

400 120
""" ==
L——1
\YNIL
*-4t
E—_"=
:_cos_: _
s L)
o (s ! 2
1N
L_ / -
ET M8
No. | #25%S ZRE DN TR i A—=- 1845
1| MCB-3~MCB-12| ECtFelrss PIE 3072000 B-IN-2 | TR 10
2 | MCB-1~MCB-2| ECiEFRERTZS 2P2E  30/20AT ____B:Q_N-_Q _______ 7 gi\’_—_JE_______g
3 VB BEfFIENTES 3P SOAF/SONT_TABHREM | L E/A N
4 NCI~MC2 | SBiErbes ACI00V 13A (ACI%&E_@_ZQA_)_]E___ME-_IU_S _______ f ‘{i?_—_)k_______g
5 TSI~TS2| 91 LAY F AC100-200V 15A ____Tﬁl_SE[l_IK_ _____ J _\2’?_:_/_’2:%:1_ s g
6 os| J>ba-L2=y bk | ACI00 - 200V 2A AC2ET2A PINERE 1
FrERy R EIE SN
ErEh B %
) = AF-L t1.2 IR | FEN\UNIL AR | B | 8 | ®mEt TR =&k 9:?
sE | AF-L t1.2 2\ /3 % % 2011/4/1 1/10
&P o) . o) e g
LCBOSP12T2M2 ;y,*f_,b TC0940-12 2518/ SR=-ILEERNX=I (2|LCB0SP12T2M2 (1731




1¢3W 100,200V

ECAD

MCB
3P S0AF/50AT
IR
MCB-1 MCB-2
100V[100V MC1
AT
2P2E 30/20AT 2P2E 30/20AT
MCB-3 MCB-4
MC2
o —AT2
2P1E  30/20AT 2P1E 30/20AT
MCB-5 MCB-6
2P1E 30/20AT 2P1E 30/20AT
MCB-7 MCB-8
2P1E 30/20AT 2P1E 30/20AT
MCB-9 MCB-10
2P1E 30/20AT 2P1E 30/20AT
MCB-11 MCB-12
2P1E  30/20AT 2P1E 30/20AT
F LN
SA
FrERYNER BH/1BA %
5
BB R \URIL 3R | B | M9 | @t ETe] =m% o
FNET 2011741 2
il spe B)|(EB —
PJI\P SR=-ILE Rk X=1 |2/ LCB05P12T2M2 [2/3]




B8RS

ECAD

1 cas U2
L0 -E -E
\ i
\ I I
Gy P
U
I I
IT0 '
\‘|/
|4 ___(_2_'?'_)___________:
)@\ TS1 TS2
2 :@L
1 2
= 9 =) #m‘ 7 =)
icom icosz
1 2 1
1 3
|TS1 | |T82 [:lMU [:lMCZ
AC100V ACI00V AT1:AS-ON, TS1-0OFF
AT2:AS-0ON, TS2-0OFF
NO
AT1 AT2
FrERYNER BH/BA %
5
RIS [ N\URL A EEEEERES g =&% o
SN 2011/4/1 2
iR E2 B))(8
% % SYR=ILTERXsit % LCBOSP12T2M2 [3/3]




